
������ �������
	
��
�� �����
� 
� ���� �
�
����� �
���

P1



P2

� ��
�������
 ���
����

R � ��
�
�
���� ���������� ��
���
� �
���

P3 � �
�
���� �� �� �����!�"#
� $������!�����
" � �
�
��� % #
� ��$���
��
�
" � � �
�
��� & � ��
�

���'
�
" (
δ) � * ���
� $�
�
��� �
�"
��" ��
+�
, ���
��

M
$�
 �����

������
�
" �
��
��-

. /012034 5367 6/893:;672 823<=>> /?/8 > 9/9260
M

5:@ 51>A26>@ =>:>6583B ?/ C3D/1/E D082:<2 > ?8/0>1 F?/D:256>2 08> D0/:G=3H I
J KL MNOPQ R ST S UVWVXYZ[ \ ]V^_V`ZaVb[cd eVfcYZ[cgh/5 825 I i I j I k>8>::/13 Ilm In ojpmiqrjqs Bttu I v wux y I FD Iut IH
zc{cac |}~� \~\ �

�


-

M

45◦ 30◦

-
~F

� �

P1 = 21 � s
P2 = 22 � s

P3�xt � s
F = 5 � s

R = 25
D9 s

δ = 2
99 I

zc{cac |}~� \� \ �

�

-
M

45
◦

30
◦

�
~F�

�

P1 = 25 � s
P2 = 26 � s

P3��t � s
F = 25 � s

R = 55
D9 s

δ = 3
99 I

zc{cac |}~� \� \ �

�

-
M

60◦
30◦

�
~F

� �

P1 = 24 � s
P2 = 25 � s

P3��t � s
F = 20 � s

R = 30
D9 s

δ = 1
99 I

zc{cac |}~� \� \ �

�

-
M

60◦ 60◦

�
~F

� �

P1 = 11 � s
P2 = 28 � s

P3�xt � s
F = 15 � s

R = 55
D9 s

δ = 4
99 I

zc{cac |}~� \� \ �

�


-

M

45◦ 30
◦

-
~F

� �

P1 = 24 � s
P2 = 27 � s

P3�xt � s
F = 20 � s

R = 40
D9 s

δ = 2
99 I

zc{cac |}~� \� \ �

�

-
M

30◦

30
◦

�
~F �

�

P1 = 22 � s
P2 = 27 � s

P3� �t � s
F = 10 � s

R = 50
D9 s

δ = 4
99 I



zc{cac |}~� \� \ �

�

-
M

60◦ 60◦

�
~F

� �

P1 = 12 � s
P2 = 26 � s

P3�Bt � s
F = 20 � s

R = 40
D9 s

δ = 2
99 I

zc{cac |}~� \� \ �

�


-

M

45◦

30
◦

-
~F�

�

P1 = 25 � s
P2 = 27 � s

P3� �t � s
F = 25 � s

R = 65
D9 s

δ = 4
99 I

zc{cac |}~� \� \ �

�


-

M

30◦
�

~F

�
�

P1 = 5 � s
P2 = 26 � s

P3�xt � s
F = 20 � s

R = 20
D9 s

δ = 1
99 I

zc{cac |}~� \~� \ �
�


-

M

30◦

30◦

-
~F

�
�

P1 = 21 � s
P2 = 22 � s

P3�Bt � s
F = 5 � s

R = 55
D9 s

δ = 5
99 I

zc{cac |}~� \~~\ �

�


-

M

45
◦

30◦
-

~F�
�

P1 = 24 � s
P2 = 29 � s

P3� �t � s
F = 20 � s

R = 60
D9 s

δ = 4
99 I

zc{cac |}~� \~� \ �

�


-

M

45◦ 30
◦

-
~F

� �

P1 = 23 � s
P2 = 26 � s

P3�xt � s
F = 15 � s

R = 35
D9 s

δ = 2
99 I

zc{cac |}~� \~� \ �

�

-
M

60
◦

30◦

�
~F

� �

P1 = 25 � s
P2 = 28 � s

P3�wt � s
F = 25 � s

R = 75
D9 s

δ = 5
99 I

zc{cac |}~� \~� \ �

�


-

M

30
◦

-
~F�

�

P1 = 23 � s
P2 = 28 � s

P3�xt � s
F = 15 � s

R = 25
D9 s

δ = 1
99 I



zc{cac |}~� \~� \ �

�


-

M

30
◦

-
~F�

�

P1 = 22 � s
P2 = 24 � s

P3�xt � s
F = 10 � s

R = 20
D9 s

δ = 1
99 I

zc{cac |}~� \~� \ �
�


-

M

30◦

30
◦

-
~F

�
�

P1 = 25 � s
P2 = 26 � s

P3� �t � s
F = 25 � s

R = 75
D9 s

δ = 5
99 I

zc{cac |}~� \~�\ �

�

-
M

60◦

30◦

�
~F

� �

P1 = 24 � s
P2 = 26 � s

P3�xt � s
F = 20 � s

R = 50
D9 s

δ = 3
99 I

zc{cac |}~� \~� \ �

�


-

M

30◦
�

~F

�
�

P1 = 5 � s
P2 = 26 � s

P3��t � s
F = 10 � s

R = 15
D9 s

δ = 1
99 I

zc{cac |}~� \~� \ �
�


-

M

30
◦

30◦

-
~F

�
�

P1 = 23 � s
P2 = 25 � s

P3� �t � s
F = 15 � s

R = 55
D9 s

δ = 4
99 I

zc{cac |}~� \�� \ �
�


-

M

30
◦

30◦

-
~F

�
�

P1 = 24 � s
P2 = 28 � s

P3��t � s
F = 20 � s

R = 60
D9 s

δ = 4
99 I

zc{cac |}~� \�~\ �

�

-
M

60◦ 60
◦

�
~F

� �

P1 = 12 � s
P2 = 25 � s

P3��t � s
F = 20 � s

R = 40
D9 s

δ = 2
99 I

zc{cac |}~� \�� \ �

�


-

M

30
◦

�
~F

�
�

P1 = 5 � s
P2 = 28 � s

P3��t � s
F = 30 � s

R = 55
D9 s

δ = 4
99 I



zc{cac |}~� \�� \ �

�

-
M

45
◦

30◦

�
~F�

�

P1 = 21 � s
P2 = 25 � s

P3�wt � s
F = 5 � s

R = 35
D9 s

δ = 3
99 I

zc{cac |}~� \�� \ �

�


-

M

45◦

30
◦

-
~F�

�

P1 = 24 � s
P2 = 25 � s

P3�Bt � s
F = 20 � s

R = 60
D9 s

δ = 4
99 I

zc{cac |}~� \�� \ �

�

-
M

60
◦

60◦

�
~F

� �

P1 = 12 � s
P2 = 28 � s

P3�Bt � s
F = 25 � s

R = 35
D9 s

δ = 1
99 I

zc{cac |}~� \�� \ �

�

-
M

60◦

30◦

�
~F

� �

P1 = 22 � s
P2 = 23 � s

P3�xt � s
F = 10 � s

R = 30
D9 s

δ = 2
99 I

zc{cac |}~� \��\ �

�


-

M

45◦ 30
◦

-
~F

� �

P1 = 24 � s
P2 = 27 � s

P3��t � s
F = 20 � s

R = 60
D9 s

δ = 4
99 I

zc{cac |}~� \�� \ �
�


-

M

30
◦

30◦

-
~F

�
�

P1 = 25 � s
P2 = 30 � s

P3�Bt � s
F = 25 � s

R = 35
D9 s

δ = 1
99 I

zc{cac |}~� \�� \ �

�


-

M

45◦ 30◦

-
~F

� �

P1 = 21 � s
P2 = 26 � s

P3��t � s
F = 5 � s

R = 15
D9 s

δ = 1
99 I

zc{cac |}~� \�� \ �

�


-

M

45◦

30
◦

-
~F�

�

P1 = 25 � s
P2 = 27 � s

P3�xt � s
F = 25 � s

R = 75
D9 s

δ = 5
99 I

�� �u������ �
������ ������� �� I�B IBt �x



N1 N2 M N1 N2 M   ¡    ¡
¢ ¢£ ¤¥¦§ ¨© ¤ª§§ ¢¥ ¤ª«¥ ¢£ ¤¦¬¦ ¨© ¤§ª¨ ¢¥ ¤£ª§
§ £¬ ¤«§© ¢¢¬ ¤¬ ¢§ ­© ¤¦¦ ¢ ¦« ¤ª¬¦ ¢§¨ ¤©¬£ ­ª ¤§¨§
« ¦ª ¤¥ ¢« £ª ¤©¨¦ £ ¤«¦ª ¦¦ ¤¦§© £ª ¤¦§¨ £ ¤¨«¨
¨ ª« ¤« ¢£ ¬¨ ¤©¥¦ « ¤£¬« ª£ ¤ª«¨ ¬ª ¤§§£ ¨ ¤«¦ ¢
£ §£ ¤©¨£ £¨ ¤¨§© ¢¨ ¤££§ §¦ ¤§©© £¨ ¤¢¢£ ¢¨ ¤«ª£
¦ §« ¤«©« «ª ¤¬¨¬ ¥ ¤©¥ ¢ §« ¤«©« «ª ¤¦¥¥ ¢¤¢£¥
ª ¨ª ¤¥¦ ¢ ª¢¤«©§ ¥ ¤ª¥ª ¨© ¤«¥© ª§ ¤¦§¬ ¥ ¤¬¬£
© §© ¤¦¥¥ ¨¦ ¤§¦¬ ­¨ ¤¢«¥ §© ¤ªª¥ ¨¦ ¤£¬¬ ­¨ ¤£¨¨
¬ §¥ ¤§©¬ £ª ¤ª¢¨ ­§ ¤¦£ª ¢¬ ¤ª¢« £ª ¤«© ¢ ­§ ¤ª§¨
¢¥ ¢© ¤©¦¨ £¢¤§«§ ¢¢¤£¦ ¢ ¢¬ ¤ª© ¢ ¨¬ ¤¦¨¨ ¢¥ ¤¦©ª
¢¢ §¦ ¤«¬« ¨£ ¤«ª§ ­¥ ¤©ª© §¦ ¤£ª¨ ¨£ ¤ª§« ­ ¢¤§©£
¢§ §¢¤¬©¨ £« ¤§¬§ ¢« ¤£©¬ §§ ¤¨©¥ £§ ¤¬¨§ ¢« ¤¨ ¢¦
¢« ¦« ¤¨©« ¨¬ ¤©¨¨ ª ¤¢£§ ¦§ ¤©§¢ ¨¬ ¤¨¦§ ª ¤¨«¬
¢¨ ¢¨ ¤ªª¨ £¦ ¤£«¥ © ¤¦ ¢© ¢£ ¤§§ª £¦ ¤ª¬ ¢ © ¤££§
¢£ ¬ ¤ª£§ ¨¬ ¤¦«¥ ª ¤§ª¨ ¢¥ ¤§£¥ ¨¬ ¤¬ ¢© ª ¤§¢¦
¢¦ «£ ¤¬£ª §¬ ¤¥§¬ ­ª ¤ª«¬ «¦ ¤«¨¥ §© ¤«¦¦ ­© ¤§«¦
¢ª ¦ª ¤«¬¦ ¬ ¢¤¥£¨ ¢¨ ¤«¦ª ¦© ¤£¥¥ ¬§ ¤¬¦¦ ¢£ ¤«§«
¢© ¢¥ ¤«©¥ £¦ ¤¬¬« ­« ¤¦¥ ¢ ¬ ¤¦§« £¦ ¤££¦ ­« ¤¦¦ª
¢¬ §£ ¤ª¢© «ª ¤¨«« § ¤¢ª¨ §¦ ¤§£¦ «¦ ¤£¥§ ¢¤¦¦§
§¥ «¬ ¤««¦ ª§ ¤¦«ª ¢¥ ¤¥¨« ¨¥ ¤§¬¨ ª¥ ¤¬ª¬ ¬ ¤¥¨©
§¢ ª£ ¤«§¢ ¬¬ ¤¢¨ ¢ ¥ ¤«¥£ ªª ¤¥£« ¢¥¥ ¤©ª¨ ¥ ¤ª¥£
§§ «¥ ¤£¢¨ ª¥ ¤¦ ¢ª ­¦ ¤© ¢¢ §¬ ¤¨¬ ¢ ª¥ ¤¥§¦ ­ª ¤¢«£
§« ª¬ ¤«¦¥ ¢§¥ ¤««¨ « ¤¨«¦ ©¦ ¤¨¬¥ ¢§© ¤§©ª ¨ ¤©ªª
§¨ §¬ ¤¬§¦ ¨¦ ¤«¦¬ ¢¤§¨© «¥ ¤¢¢§ ¨¦ ¤ª§ª ¥ ¤©«§
§£ ¨£ ¤¬ª£ ª£ ¤¦§¦ ¥ ¤«¬¬ ¨¦ ¤ª§ª ª¦ ¤«ª© ¥ ¤££¢
§¦ ¦© ¤¥¨£ ©£ ¤¥ ¢© ¢¥ ¤¢£ª ¦¬ ¤¢¬§ ©ª ¤¥¥£ ¢¥ ¤ª£«
§ª §ª ¤§«« ¦¥ ¤§ª¦ §£ ¤§«© §ª ¤©©ª £¬ ¤© ¢¨ §¨ ¤©¨¦
§© «¦ ¤£§« ¨¨ ¤£¥§ ­¥ ¤¬§¨ «¦ ¤ªªª ¨¨ ¤¥¦¨ ­ ¢¤¥ªª
§¬ ¢¨ ¤¬§¥ £¬ ¤¢¢ª ª ¤£§¥ ¢£ ¤£¦ ¢ £© ¤¦¦¨ ª ¤¨§¨
«¥ «¬ ¤¢¦¬ ¦ ¢¤¢¬© « ¤§¬« «¬ ¤¨ ¢¨ ¦ ¢¤¦ª¢ § ¤¦¥©

®¯°± ²³´µ ¶ ¢©·£¸


